SOCKET WELD PIPE IN-LINE FLANGES

WITH 9/16-18 (-6) SAE GAUGE PORT

SAE J518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H | K PART NO. BOLT SIZE oring| VT
4101-08-08M8 8.5 MKM 541 M8 x 50 210
1 1 1.50|2.12|1.50 | 1.500 | .688 | .50 .38 | .860 1.0
/2 /2 4102-08-08M8 M8x1.25
4101-12-12M10 10.5 MKM M10 x 50 214
3 3 1.75|2.62|1.50 | 1.875 | .875 | .75 .50 |1.070 1.4
Ya Y4 [ 102-12-12M10 M10x1.5
4101-16-16M10 10.5 MKM 521 M10 x 50 219
2.00|2.82|1.50 | 2.062 | 1.031 | 1. .50 |1. 1.7
1 1 4102-16-16M10 00)2.8 5012.06 03 00 utoxts | 20 [133°
4101-20-20M10t 10.5 MKM 3526 M10 x 50 222
1 1 2.50|3.19|1.50 | 2.312 | 1.188 | 1.25 .50 |1.680 2.3
1Va | 1Va [ 050 0mi00 M10x1.5
4101-24-24M12% 13.0 MKM M12 x 55 225
1 1 2.75|3.75 | 1.50 | 2.750 | 1.406 | 1.50 .50 [1.920 3.0
12 | 172 [0 oioamies M12x1.75
4101-32-32M12% 13.0 MKM 2566 M12 x 60 228
3.25|4.00 | 1.75 | 3.062 | 1.688 | 1.94 .62 |2.411 a1
2 2 4102-32-32M12% M12x1.75
4101-40-40M12% 13.0 MKM 4511 M12 x 60 232
1/5,@ 1 4.00 | 4.50 | 1.75 | 3.500 | 2.000 | 2.44 .75 |2.911 5.6
22%| 22 [0 a0mize M12x1.75
® 4101-48-48M16 17.0 MKM 508 M16 x 75 237
a, .31|2.00|4.188 | 2.438 | 2.94 .75 |3.54 1
3 3 4100-48-48M16 50 5.3 00 88 38 | 2.94 = 5 |3.540 ——| 8
4101-56-56M16 17.0 MKM M16 x 70 241
1/5® 1 5.00 | 6.00 | 1.75 | 4.750 | 2.750 | 3.44 .75 |4.045 8.6
32" 32 [ i0a5656m16 M16x2
@ 4101-64-64M16 17.0 MKM M16 x 70 245
} 38| 1.75|5.125 | 3.062 | 3.94 .75 |a. )
4 4 4102-64-6am1e | 550 638 5|5.1253.062 | 3.94 — o 5 14.550 ——1 9.6
@ 4101-80-80M16 17.0 MKM 511 M16 x 75 253
7.00|7.25 | 2. . 625 | 4.94 .75 |s. 15.
5 5 4102-80-80M16 | 7:00 | 7:25|2.00 | 6.000 | 3.625 | 4.94 | - .75 |5.635 —=—115.6
MATERIAL:
Low Carbon Steel
O-Ring Style Companion Style
(Flat Face)

-1 V- ¥i\ |24

-

P \
Zad l ‘ Y l

|

|
_Q—} -@- 42 °RB‘/%%' #GORB/;%%-
|— EA—‘I —{H|— —ul~ Kk

l-— ¢ — l— ¢ —

Model 4101 / 4103 Model 4102 / 4104
3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 1518 62 SERIES / 1IS06162-2 PATTER
MOUNTING KIT
FLS‘:\[::E :i:: N:I\A;:LR A B C D E F % H K PART NO. BOLT SIZE s O-RING WT
1/» 1> :igi:g::g:mz 1.75|2.22 | 1.50 [ 1.594 | .718 | .50 M8i115.25 50 | .860 | 241 M8 x 30 210 1.3
3/4 3/a :igigiimg 2.00 | 2.81 | 1.50 | 2.000 | .937 | .75 M11(()J>I<i.5 50 |1.070 |— kM M10 x 50 214 1.8
4103-16-16M12 12.5 MKM 525 |  M12 x 55 219
1 1 Al0a-1616M1p | 2:25|3:19[ 1,50 2.250 | 1.093 | 1.00 [ === .50 |1.335 X —— 2.3
112 | 114 :182:28:;gm§z 2.75(3.75|1.50 | 2.625 | 1.250 | 1.25 M112:)3(l10.75 50 |1.680 |- 222 Mi2 x5 222 3.3
11/ | 11/ Zigi:ii:;imz 3.25/4.50 | 1.50 | 3.125 | 1.437 | 1.50 M1176l>(()2 50 |1.920 | M 213 | M16x 60 225 4.6
4103-32-32M20 21.0 MKM 516 |  M20 x 70 228
2 2 4104323020 | 00| 5:25 | 1.75| 3.812 | 1.750 | 1.94 oo .62 |2.411 X —— 7.6
21/ | 21/ :igi:ig:igﬂi: 5.00 | 6.88 | 2.00 | 4.875 | 2.312 | 2.44 M2254)‘:’3 62 (2,911 | KM 217 | M24 x 80 232 14.8
4103-48-48M30 32.0 MKM 518 |  M30 x 110 237
3 3 4104-28-48M30 | 6:00 | 8:50 | 2.50 | 6.000 | 2.812 | 2.94 =T .62 (3.540 8 ——27.4

@ Order Separately @ 2500 PSI Max ® 2000 PSI Max & 500 PSI Max

NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2017



